

## Multiply by $10^{-3}$ (J)

Find each product.

$$5,5 \times 10^{-3} =$$

$$9,42 \times 10^{-3} =$$

$$6,9746 \times 10^{-3} =$$

$$5,8 \times 10^{-3} =$$

$$5,0975 \times 10^{-3} =$$

$$9,3174 \times 10^{-3} =$$

$$6,883 \times 10^{-3} =$$

$$2,477 \times 10^{-3} =$$

$$4,54 \times 10^{-3} =$$

$$2,6887 \times 10^{-3} =$$

$$3,3 \times 10^{-3} =$$

$$8,28 \times 10^{-3} =$$

$$0,39 \times 10^{-3} =$$

$$5,804 \times 10^{-3} =$$

$$6,91 \times 10^{-3} =$$

$$2,2481 \times 10^{-3} =$$

$$9,04 \times 10^{-3} =$$

$$1,889 \times 10^{-3} =$$

$$0,9226 \times 10^{-3} =$$

$$0,4 \times 10^{-3} =$$